2.9 #1t

“ W5 187 (punctuated equilibrium)”

T
“I 1k (co-evolution)”: HHFEDEIENEHEIZEET S
thoEDEILICEEERITT.

1. £RER:BFHNERSEE, 14X n D1RTEF

BFTA-GER)DIE = EL# = EEMEDYTE
= HEILDE = EMEDEIZEER

BENSWEERIRIIRE

2. HIEEDFH A LDLLEZleastFitSites
RITEYAFDEZHLVIELETESTRZ
1L AL E, HAEK
BEZon-FEATYT, iLLMESLANIL



In[1] := DarwinianEvolution[n_, t_]:=
Module[{prebiotic, fitness, leastFitSites},
PIEAE M ) RMEZE(C
leastFitSites = { };
n PR D R HA A HE 3
preblotlc Table[Random[] {n}],
BELZEMOBPTERRDEEZRT
fltness = Function[y, ReleaseHold[
SODBEEHAMFDENELHTEENZADOND.
ReplacePart[y, Hold[Random[ ]]
BERASNORIEED T A, BEEYAH
—{ Join[# - 1/. 0->n,
Rl A D L& ZrleastFitSites| ZiE <
AppendTo[leastFitSites, #];
#,
#+1/. (n+1) -> 1] & [Position[y, Min[y]]]

111 E & EDENFIEDIEE



L RSN fitness Z#2IRL t [B], TDERERITEF
Nest[fitness, prebiotic, t];
Flatten[leastFitSites]

]
Hold B§%%: &L T, YRKZIRASNSENZEE @S AEL




2.10 SUFLJ4—D

MIBE: HFOEHIEIRR
EWE. £EYOBEFOETILIE
BEE: EMhmEOEIROETILIE

[1R5T]

In[1] := StepIncrements[n_ ] := Table[(-1)*Random[Integer, {n}]
In[2] := Steplncrements[10]
Out[2]=4{-1,1,-1,-1,-1,-1,1,-1,1, -1}
In[3] := FoldList[Plus, 0, %]
Out[3] ={0, -1, 0, -1, -2, -3, -4, -3, -4, -3, -4}
In[4] .= Walk1lD[n_]:=

FoldList[Plus, 0, Table[(-1)*Random[Integer, {n}] ]
In[5] := Walk1DJ[10]
Out[5]=4{0,1,2,3,2,1,2,1,2,3,2}
NestList[(# + (-1)*Random[Integer])&, 0, n]



[2:R5T]

In[6] := Walk2D[n_ ] := FoldList[Plus, {0, 0},

{{0,1}, {1, 0}, {0, -1}, {-1, 0}}
[[Table[Random[Integer, {1, 4}], {n}] 1]

|
In[7]:= Walk2D[10]
out[7] = {{0, 0}, {1, 0}, {2, O}, {2, -1}, {1, -1}, {1, -2},
{1, -3} {1, -2}, {1, -3}, {1, -2}, {1, -3}}

2 RFTAEF I+ —I DF AR

ST 15 2 3% 1l i 2R R
(mean square end-to-end distance) K \
T2 FREERFF

(mean square radius of gyration)




{0, 0} M EFEL T {X;, yi} THRODBEFI4— D 23 i i EE A
Apply[Plus, {xf, yf}*2] - X% + Y

In[1] := SquareDistance[walk_List] := Apply[Plus, Last[walk]*2]
TH&KLN.

In[2] := MeanSquareDistance[n_Integer, m_Integer] :=

Module[{walk2D},

walk2D[s_ ] := FoldList[Plus, {0, 0},

{{0.1}, {1, 0}, {0, -1}, {-1, 0}}
[[Table[Random[Integer, {1, 4}], {s}] 11 I;

NATYITDIUE L0+ —9% mBYTITS

N[Sum[Apply[Plus, Last[walk2D[n]]*2], {m}/m]
]



In

FH 25 EIERFE

3] := MeanSquareRadiusGyration[m_Integer, n_Integer] :=

Module[{squareRadiusGyration},
squareRadiusGyration[s_Integer] :
Module[{locs, cm, choices ={{1, 0}, {-1, 0},

10, 1}, {0, -1}}},

MED') A
locs = FoldList[Plus, {0, 0},
choices|[[ Table[Random([Integer, {1, 4}],

B {sHIIL;
ER/R
cm = N[Apply[P|US, |OCS]/(S + 1)];
Apply[Plus,

Flatten[(Transpose[locs] — cm)”*2]]/(s + 1)
) Ak {{(Xoi).(cm)21 T (XO'Xcm)21 (XO'Xcm)Z}{{(yO'ycm)z’ T }}
N[SL;m[squareRadiusGyration[n], {m}]/m]]



.11 BHZ2[E#EY+—72 (self-avoiding walk, SAW)
—ERBL-MNEZEITTED

ST FPEE: HELEFEESTRUO OV :-2HDO L FhHb
HAHRVEIR T F

CTAORS DEEMER: N> 0 TON-RIKL-ETIL

—ARRITEER R IR R

O RYFY 5 - ZAx—4 7 JL31) X L (slithering snake,
BAHEOITHR)
@ REMZEHE (pivot) 7ILT) X L



2.11.1 RYHFYL5-ZR3x—-7)L31) X L

) HA




In[1] := SlitheringSAWI|[n_, m_ ] := Module[{squaredist, snake},

) B i i 2 5E B B
squaredist = n”2
snake = (Module[{newpt, path,
choice = {{1, 0}, {-1, 0},
10,1}, {0, -1}}}

1RTY7TDEM. HFLWLWRTYTAE
newpt = Last[#] + choice[[Random][Integer, {1, 4}]]];

newpt M (R DRATYTERWF)IEEDRATYTE—E

ERCY AN
If [MemberQ[Rest[#], newpt]

s @D, # Z¥Er — path
path = Reverse[#],
S ENTTNIE, # DRIDRATYTERYRE, newpt &

Mz,

lumli

Tull}

path = Join[Rest[#], {newpt}]];



FTLLSSAWDELE path D ilim2 T FEBE% squaredist [Z
MAS.
squaredist + =
Apply[Plus, (First[path] — Last[path])"2];
path])& ;

PEABC & m [Bl#EY R 3
Nest[snake, Tablef{i, 0}, {1, 0, n;], m];
S £5) 2 5 Ty i £
N[squaredist/(m + 1)]
]




2.11. 2 RE#SHEHBLT7ILI)X L

IEAEKHHICd
;)J-ff\-ODJ:L\EJJE’W)L:u X L

d R+ E

24d! @ Xt F (

A

d RITDSAWZE & L

BRE R IRED D1 DETUA LITER

(2RITDIFE)SDDXFMRIENDS>H3D(£90° ,180° )%
EZZ AT THE S

3DM2XRc[E

In[1] :=rot90 = {{0, 1}, {-1, 0}}
In[1] := rot180 = {{-1, 0}, {0, -1}}
In[1]:=rot270 = {0, -1}, {1. O3}  nitial.rot1g0 | initial

BR1T 5 I Initial.rot90

O oO—>

HGLE d
In[4] ;= initial = {{1, 0}}
O ER(X1THIDHEITE

In[5] := {initial.rot270, initial.rot90, initial.rot180}
Out[5] = {{{0, -1}}, {{0, 1}}, {{-1, 0}}}



In[6] := chain ={{0, 0}, {0, 1}, {1, 1}, {1, 2}, {0, 2}}

1R S DL pivot T
In[7] := pivot = chain[[2]] | T
out[7] = {0, 1} | - 1
BEENSR i BHORTYTD  chain | -
chainMECi& D BECL— relative PluSOOROtSAW
relative = chain[[i]] — pivot T
pivot £H YD [E]Ex T T
move = pivot + relative.roti ? i
, - ©
In[8] := Plus90ROISAW = Minus90RotSAW T g
{chain[[1]], Plus180ROtSAW
chain[[2]],
chain[[2]] + (chain[[3]] - chain[[2]]).rot90,
chain[[2]] + (chain[[4]] - chain[[2]]).rot90,
chain[[2]] + (chain[[5]] - chain[[2]]).rot90}




In[1] := Pivot2DSAWI[n_Integer, m_Integer] :=
Module[{squaredist, twistAndShout},
2 5% 1 i (26
squaredist = n"2 ;
twistAndShout =
(Module[{ball, fixsec, movesec, rotchoice,
newsec, newconfig,
o ER1T 5
rot = {{{O, -1}, {1, 0}}, «— rot270
{{0, 1}, {-1,0}}, <«——rot90
{{-1, 0}, {0, -1}}}, «— rot180
REHRZETF LITES
ball = Random[Integer, {1, n-1}] ;
ball ZEHWNT, # Z2DDE R TR TS
B E D =10 LIRERFET
fixsec = Take[#, ball] ;
O EREf o = REI R MO FREET
movesec = Take[#, ball — (n+1)] ;




320

A

4750 (-90° , 90° , 180° M

TR LITES
rotchoice = rot[[Random([Integer, {1, 3}]]] ;
movesec M # BT 5.

newsec = Map[Functionly, #[[ball]] +

If [Intersection[newsec, fixsec] =={},

#5) ) 1 D% rotchoice

(y - #[[ball]]).rotchoice], movesec] ;
newsec & fixsec M—EL TLVELINZEFRARD

HELERDRATYTDEITNIE, fixsec & newsec #DHE, #Fl
L\SAWEREZEEY, newconfig &£ D115, 2FEMminERZ T E
L, squaredist [ICH0Z 5.

newconfig = Join[fixsec, newsec] ;
squaredist += Apply[Plus, Last[newconfig]*2] ;
newconfig,




Tulll

S IEHRATYI DB, BIDSAW
squaredist += Apply[Plus, Last[#]"2] ;
#]D& ;

#HASAWED &

A

Nest[twistAndShout, Table[{j, 0}, {j, 0, n}], m] ;
N[sgauredist/(m + 1)]]




2. 12 {+75 (accretion)
RAIFHIMBORFIZEZE, ‘ST S5 £ TEIZMS1BFE

= JTRA—
{)’éﬁ% (aggregation) : ISR A—MBEHIZF

/®
&

HEFE (deposition) : IS5 RF—AHEIZELS —

“HL AR 1R B ER 5 (diffusion-limited aggregation, DLA) ”
P F I DZ WIS RI—(ZHEf T DETI SV IEE
- ZRGBEARRROER

fEeRit, ONAREESARDOMEIK, BEDRR, EERIE

“58 Y& HEFE (ballistic deposition) ”

=

NOE-X:

E REMSLIDDIMFHAERE —

METADHE — REICHE
- MERFE
SRR R, [MERER, R/ BT, B FRIEAFD



2.12. 1 DLA

DLAZOY 5.1
In[1] := DLAJ[s_Integer, n_Integer] :=
Module[{loc, rad, particleCount = 0,
stepChoices = {{1, 0}, {0, 1}, {-1, 0}, {0, -1}}},
‘B (—R)" B YA EBATEUAR
occupiedSites = {{0, 0}};
occupiedSites D{RIM n [ZHHETHE
While[Length[occupiedSites] < n,
+ +particleCount ;
1 DDRFNIUF L9+ —
“HIR T HHDFFE
rad = Max|[Abs[occupiedSites]] + s ;




TR L) —DEDAE
loc = FixedPoint[
ROFF=-1ERATVT
(# + stepChoices[[Random[Integer, {1, 4}]]] ) &,
Round[rad{Cos[#], Sin[#]}] & [Random|[Real,
10, N[2Pi]}]],
SameTest -> (Apply[Plus, #272] > (rad + s)"2 ||
Intersection[occupiedSites,
Map[Function[y, y + #2],
stepChoices]] ' ={ } &)
1
If [Apply[Plus, loc"2] < rad”2,
occupiedSites = Join[occupiedSites, {loc}]]
1
Print[“The number of particles released was”,
particleCount] ;
occupiedSites



In[2] := ShowDLA[sites ,opts ] :=
Module[{structure, s = Length[sites]},
structure = { };
Map|[(AppendTo[structure,
{Hue[.99 #/s],
Rectangle[sites[[#]] — {0.5, 0.5},
sites[[#]] + {0.5, 0.5}],
RGBColor[1, 1, 1],
Text[#, sites[[#]1]1}] ) &,
Rangel[s]] ;
Show|[Graphics[structure],
opts,
Axes -> None,
AspectRatio -> Automatic,
PlotRange -> All

]



2.12. 2 DLADOI7S92)ILRIT
DLARE — EEK, 95RAI—DEHNAARE, FiE

T
" EBRMR: S DG FHADLAOFIESH L O ED—ER
ICHET DRIREMEMNIET

- D598—Rt = DLADZEEORE
- DSRAA—DERIEEFFEDITRE—-H A XIKEHE
- DLAOYA4X | = I25958—Xmx |




I2U0ZIRITDTAYT Z L

In[3] := FractalDimension[occupiedSites Llist] :=
Module[{occSiteDensity, fractalDataL.ist, fractaldim},
occSiteDensity[t_Integer] .=
N[Count[occupledS|tes {x_?(Abs[#] <=1 &),
y ? (Abs[#] <=t &)}]}/(2t + 1)"2 ;
IEZE(Z7E>T=xF D fractalDatalList
fractalDataList = Table[{2s, occSiteDensity[s]},
{s, Max[Abs[occupiedSites]]}] ;
DSRZ—HDHYALDYR L
DLABED ISR ILRIT
fractaldim = Fit[N[Log[fractalDataL.ist]], {1, x}, X] ;
Print[“The fractal dimension of the DLAIs  “,
Coefficient[fractaldim, x]] ;




2.12. 3 HEMHFE
HEMMRE 0TS L

In[4] := MolecularDeposition[n_, t ] :=
Module[{init, newLat, nnColumns,
depositRow, emitLayer},
PEAFEF Oorl
Init = Transpose[Table[{0, 1}, {n}]] ;
FLF D& S5 T
newlLat =
BFD5
(depositColumn = Random([Integer, {1, n}] ;
EIREINT=FE2DDEIFED S
nnColumns =
Transpose[#][[{depositColumn — 1/. 0 -> n,
depositColumn,
depositColumn + 1/. (n+1) -> 1}]]&;



BB TKARFN LTSI FDIT
depositRow =
Min[Flatten[Map[Function]y,
First[Position[y, 1]]],
nnColumns[#]]] - {0, 1, 0}]& ;

ReplacePart[#, 1, {depositRow[#],
depositColumn}]D& ;

emitLayer = If [#[[1]] ! = Table[0, {n}],
Prepend[#, Table[0, {n}]], #]& ;

Nest[emitLayer[newLat[#]]&, Init, t]
]



2. 13 {GiBRZE

G PEREETOIREBZIRYICIETERRBZILITEN A
ok 9 D1BFE

¥Efb & (kinetic growth, KG) ETJ)L: BRAIRZRDBFED

R 2Rk
BEORE, EEEDOEE, 7L BDILFEY,
ZHBEEATDRAEDTRN

KGETILDRER: 4 —T2FETI, 2RITIEFEF
1DDNEDISAZA— AN —F YA (#EAEE S AF))
= JAIVEEDIDDHYALEESR = 9T3RE2—1) XM
= ZDBEFEEHA X nETTHEITHS

{@ﬁ—/ﬁ—: L —<,3> (single percolation) 75X 8—-ETJL
@ AR/ \—aL—< 3> (invasion percolation) ET JL



2.13.1 BE—/N\—aL—>3>95R83—-FTF)L
RRDIGLZTEC R
FURLIZREIEINFE-FB YA DFRI—IZDEHBHESEp

BIRENT-H A USAE—HIZFSICEDLT BELUAR
Mo BRI NS



7095
JS2RI—DES  HEE

4
In[1] := Epidemic[n_, p ]:= AR b (FHEIURE)
AL
- ™~
Module[{choices = {{1, 0}, {0, 1}, {-1, 0}, {0, -1}},
reject, pickAndChoose, select, newpers},

ZED') A
reject={}
1 DD YA ES, #[[1]]: 25 REZ—1) X},
{ #([2]1]: A8 AFDIAE
pickAndChoose :=
(select = #[[2, Random[Integer, {1, Length[#[[2]]1]1}11];
AL =p
If [Random] ] <= p,

#Hr LU perimeter') X +

newPers =



selecthiperimeter listh o ERY RN =
“#I1110, #[[2]], reject "7z selectD &xirBEH A+ — newPers
Complement[Union{Map {Function{y, y+select],
choices], #[[2]], {select}, #[[1]], reject];
{select}HM#[[1]]ICEM N + FHLWLWEBIVALDESDHE
{Join[#[[1]], {select}], newPers},
ELE >p, selectldrejectl
reject = Join[reject, {select}];
selectIEperimeter listh S EXY R ML, 4> TULVEL cluster list
#[[1]1&FT LU perimeter list #[[2]1DV o755 FBEF D DLV
{#[[1]], Complement[#[[2]], {select}]}])&;
perimeter!) A#2[[2]]DYZEDY, cluster') RN n (25 FE THEY

BLETH seed ?4# 5%1%47”(#

FixedPoint[pick AndChoose, {{{0, 0}}, choices}, n,
SameTest -> (#2[[2]] =={ } ||
Length[#2[[1]] = = n &)][[1]]



2.13. 2 A& /—aL—>3 FTI)L

2 FLE KA
EIRE A

(f51)

A

DFRIEDRN

IR (tertiary oil recovery)

B3 ADFH A MMER S L=EL 8 EHF D
HUEROEBELEHGZUL>TIERE



A=A NN
In[1] := Invasion[n_Integer] :=
Module[{pickAndChoose, nn, newnn, newpers, newPerL.Is,
choices = {{1, 0}, {0, 1}, {-1, 0}, {0, -1}}},
#[[1]]: cluster list, #[[2]]: perimeter list
pickAndChoose .=
LB R E D perimeter site = #DE2HHZIEHFIZHE —
DESNFIVANDE1HRTDE2ER
(newcluSite = Sort[#[[2]1[[1, 2]];
nn = newcluSite D FFITIEH Ak
nn = Map|[Function|y, y + newcluSite], choices];
nn = Map[(# + newcluSite}&, {{1, 0}, {0, 1}, {-1, 0}, {O, -1}}]
cluster list(#[[1]]) D perimeter list#[[2]]) D EB LM ZH BB A LZnn
Avio HYY RS
newnn = Complement[nn, #[[1]],
Transposel#[1211T211:



BYDYAMIEZREMEIZT S
newpers = Transpose[{ Table[Random[ ],

{Length[newnn]}], newnn}];
newperszperimeter|ZANZ, %tit L1=EL#Z £ DnewcluSiteZZ D
38 A ERY FRS
newPerLis = Join[DeleteCases[#[[2]],
{ _, newcluSite}], newpers]
#Hr LU cluster listeEr LU perimeter listh S AIEFIL>T-#0%1E5.
{Join[#[[1]], {newcluSite}], newPerLis})&;
seed A FEZDREB YA BIESIERFIL>1=#8
Nest[pickAndChoose,
{{{0, 0}}, Transpose[{Table[Random][ ], {4}],

choices}]}, n][[1]]




